An experiment was carried out to investigate the inheritance of grain shape and coluor in maize. The numbers of each type of grain on a cob were counted (observed number). The results are shown in the table below.
	PHENOTYPE OF GRAIN
	OBSERVED NO (O)
	EXPECTED NO. (E) 
	[(O-E)2]/E

	Yellow and Smooth
	53
	
	

	Yellow and Wrinkled
	20
	
	

	White and Smooth
	17
	
	

	White and Wrinkled
	10
	
	

	Total
	
	
	


It was predicted that the phenotypes would be in the ratio 9:3:3:1 and Chi-squared (x2) test was used to investigate whether there was significant difference between the observed results and the expected results.

(a) State the null hypothesis for this investigation

(b) Complete the table by calculating the expected number (E) of grains of each phenotype.

(c) State the number of degrees of freedom

(d) The value is x2 was calculated and found to be 2.68 The table below shows critical values for x2 for the appropriate number of degrees of freedom.

	P
	0.05
	0.025
	0.01
	0.005
	0.001

	Critical values
	7.81
	9.35
	11.34
	12.84
	16.27


What conclusions can you draw from this investigation? Explain your answer.
